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SYSTEM START:

INTERRUPT DISABLE)
SENSE(MTO,STATUS)?

IF SYATUS AND ERROR THEN
HALTS
CLEAR AUTOLNDAD?

CLEAR DISPLAYS

HOMEUP}

ERASE EOQF

RESET aALL DEVICES:

MASK QUT(MASK):
START(RTC,FREAQUENCY);
PROGRAME= PROGRAM CHAIN HEAD;

INDEX$= BASE PRNCESS)
OLDs=m PROCESS CHATHNG

MEXT PROCESS:

PROCs= 0,INCRCINDEX)YS
IF PROC=0 THEN

GOT0 NEXT PROCESS:
CHAIN,OLD:=0}
IF PROC=-y THEN

GNTN CLEAR NEVICE TaABLE:
CHATN,OLD=PRNCS
NLDy= PROCH

PROGRAM (CHAINS

PROG:= PROG,PROCH

CHAIN,PROGRAM:= PROGH

PROGFRAMs= PROG}

CHATIN, PRUGE2Z 0}

RUNNING QUEUES

LINK PROCESS(PRNC))
GNTO MEXT PROCESSS
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SET DEVICE TABLE:

VALUES= LCUR
INCEXt= DEVICE TaBLE+8:

SET NEXT:

0 .INDEXs=VALUES

INDEX3s= INDEX+1)

IF INDEX<>»TOP QF DEV TABLE THEN
GCYO SET NEXT3

RTCL.DEVTABLES=
VALUE+1

CALCULATE SIZEs

ADDRsz 0}

NEXT ADDR:

ADDRi= ADDR+20483;
oLdDe= 0,ADDRY
0., ARNDRs= ADDR}
NEWee 0,ADDR};
0,ADDR= OLD}
IF HE~WSARDR THFNM
GOTO NEXT ADODRS
CNRE SIZE:= ADDR}
LOADERt= CORESIZE=128?

FIRST FREEt= LOADER)

EXIT?
COMMENT: GOTO INTERRUPT RFTURN?
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GOTO SYSTEM STARTH



